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(a) Add together 147 and 376

(b) Subtract 36 from 218

(c) Multiply 49 by 3
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The diagram shows a matchbox.
Its length is 5.3cm. Its width is 3.6cm. Its height is 1.5cm.

{15em

— 'Ascm

5.3cm

Not drawn accurately

(a) 1 join two matchboxes in different ways.
Fill in the missing values.

\

\ length = cm
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(b) Istart joining matchboxes like this:

How many matchboxes will be in the pile when its height is 12em?
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You can buy a new calculator for £1.25

In 1979 the same type of calculator
‘cost 22 times as much as it costs now.

How much did the same type of calculator cost in 19797

Show your working.
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Shoe sizes in Britain and Germany are different.

The rule below shows how to change a British shoe size to

a German shoe size.

Multiply the British shoe size by 1.26,

then add 32,

then round the answer to the nearest whole number.

Tom's British shoe size is 7, Karl's British shoe size is 71

They say:

‘The rule shows that we have the same German shoe size'.

Are they correct? Tick () Yes or No.

Yes

No

Show working to explain your answer.

3marts
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The diagram shows a matchbox.
Its length is 5.3cm. Its width is 3.6cm. ts height is 1.5cm.

$15em

...

om

Not drawn aceurately.

{a) 1join two matchboxes in different ways.

Fill in the missing valu

\ length = cm
em
\ [height= om





image13.jpg
n

You can buy a new calculator for £1.25

In 1979 the same type of calculator
cost 22 times as much as it costs now.

How much did the same type of calculator cost in 19797

Show your working.
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18.  Write the missing numbers in the table.

The first row is done for you.

First Second Sum of first || Product of first
number. number 'r:". mﬂ'ﬂ -:: mr:u
3 6 9 18
\ N o
-8 -
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13,

Shoe sizes in Britain and Germany are different.

The rule below shows how to change a British shoe size to
a German shoe si

Multiply the British shoe size by 1.25,
then add 32,
then round the answer to the nearest whole number.

Tom's British shoe size is 7, Karl’s British shoe size is 7%

They say:

“The rule shows that we have the same German shoe size'.

Are they correct? Tick (v) Yes or No.

Yes No

Show working to explain your answer.

B
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7.
There are 20 questions in a quiz.

A correct answer scores 2 points. An incorrect answer loses 1 point.

A question not answered scores 0 points. A negative total is possible.

{a) What are the maximum and minimum points you could get on the quiz?

maximum minimum -
(b) A pupil answers 10 of the 20 questions.

8 are correct.

How many points does he score?

(c) Complete the table to show 3

ferent ways to score 24 points.

12 0 8

2
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Write numbers in the boxes to make correct calculations.

You must use different numbers each time.

\

24

2mans

D,
Dx
Dx

oy
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10. (a) Add together 3.7 and 6.5

(b) Subtract5.7 from 15.2

() Multiply 254 by &

(d) Divide 342 by 6
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22. Work out

374 x 23
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6.

A shop sells clothe

t half price in a sale.

(a) Complete this label to show the sale price.

Half price sale
old price  £5.68
\ sale price [ £

(b) Now complete this label to show the old price.

Half price
N\ old price [ £ i
sale price  £6.99
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12

Here is a rhombus.

The dotted lines are the diagonals of the rhombus.

(a) Measure accurately the lengths of the diagonals.

\

cm

and

cm

(b) To find the area of the rhombus:

Multiply the lengths of the diagonals together,

then divide the answer by 2

What is the area of the rhombus?

\
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23 Use your calculator to work out the answers.

\

(48 + 67) x (61 - 19)

a8 + 57
61 -19 +ma
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3. (a) Addtogether3.7 and 6.5

(b) Subtract 5.7 from 15.2

(c) Multiply 254 by 5

(d) Divide 342 by 6
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15, Workout

374 x 23
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18. (@) Look at this information

Two numbers multiply to make zero.

One of the statements below is true.

Tick (v) the t

N\

rue statement.

Both numbers must be zero.

At least one number must be zero.

Exactly one number must be zero,

Neither number can be zero

(b) Now look at this information

Two numbers add to make zero

If one number is zero, what is the other number?

\

If neither number is zero, give an example of what

the numbers

could be.

and
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Here is a rhombus.

The dotted lines are the diagonals of the rhombus.

(a) Measure accurately the lengths of the diagonals.

\ cm | and om

(b) To find the area of the rhombus:

Multiply the lengths of the diagonals together,

then divide the answer by 2

What is the area of the rhombus?

\
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Use your calculator to work out the answers.

\

(48 + 67) x (61 - 19) =

48 + 57
61-19
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A shop sells three different sized bottles of lemonade.

() 1 want 3 litres of lemonade.
I could buy three botties of size 1 ltre.

How much would that cost?

(b) Write a different way | could buy exactly 3 litres of lemonade.

\

Now work out how much it would cost.
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(c) Write another different way | could buy exactly 3 litres of lemonade.

\

‘Now work out how much it would cost.
Ne ]

(@ My friend buys seven botties of lemonade.
hﬂmmndhl%h‘

Five of the bottles are of size 2 litres.

How many litres is that altogether?

\

il |
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6. (@ Workout

7+ 46 =

7 x 5 =

() What number do you need to add to 63 to make 1007

(©) Wnat number do you need to subtract from 100 to make 387
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(a)

()

(e

Work out the missing numbers.
In each part, you can use the first line to help you.

16 15 = 240
\ 16 = 480
46 44 = 2024

\ 46 22 =
600 24 = 25
\ 600 = 50
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13. (a) Show that 9 x 28 is 252

\

(b) Whatis 27 x 287
You can use part (a)to help you.

\
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10.  Abottle contains 250mi of cough mixture.

Adult - take 10ml
four times a day

Child - take 5ml
four times a day

One adult and one child need to take cough mixture
4 times a day every day for 5 days.

Will there be enough cough mixture in the bottle?

Explain your answer.
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3. Write the missing numbers in the boxes.

\ 4 L + 20 = 180

4 x 20 4+ = 180

4 ® - 20 = 180
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®)

©

Work out the missing numbers.

In each part, you can use the first line to help you.

16 15 240
\ 16 480
46 44 2024
\ 46 22
600 24 25
\ 600 50
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¥

(@ Show that 9 x 28 is 252

\

(o) Whatis 27 x 287
You can use part (a) to help you.

\
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Write in the boxes what the missing numbers could be.

\ + + =
x =

+ =

x + =

15

15

15

15
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A bottle contains 250ml of cough mixture.

Adult - take 10m!
four times a day

Child - take 5ml
four times a day

One adult and one child need to take cough mixture
4times a day every day for 5 days.

Will there be enough cough mixture in the bottie?
Explain your answer.
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6.

Write the missing numbers in the boxes.

\

4 x +

20

20

180

180

180
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£y Here is part of the 36 times table.

Use the 36 times table to help you work out the missing numbers.

\

© @ N o e s e

10

288

180

1

£ 888888888

72
108
144
180
216
252
288
224
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\

Here are the rules for a number grid.

This number is the sum of the numbers
12 |~ inthe midde row.

20 |~ This number s the product of the numbers

in the middle row.

Use the rules to write the missing numbers in these number grids.

12

10

24
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7. Lisauses agrid to multiply 23 by 15

x 20 3
10 200 30
5 100 15

200+ 100 + 30 + 15 = 345

Answer: 345

Now Lisa multiplies two different numbers.
Complete the grid, then give the answer below.

Answer:
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Here are the costs of tickets for a concert.

Concert tickets

Adults:  £24.50 each

Children: ~ £16.45 each

(a) Two adults go to the concert with three children.

Altogether, how much do thelr tickets cost?

Me 1 =

(b) Three adults go to the concert with some children.

Altogether, their tickets cost £155.75

How many children went to the concert with the three aduits?

\
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12, Here s information about some bags of marbles.

Altogether. there are 10 bags.

Each bag contains 12 marbles.

Each marble weighs 7 grams.

Use the information to match each question with the correct calculation.

“The first one i done for you

Question Calculation
10
How many bags are L —1
there altogether?
10x7
\ How many marbles are
there altogether? 0% 12
How much does each bag 27
of marbles weigh?
10x12x7
How much do all 10 bags
of marbles weigh attogether? it
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5. Leena buys balloons, hats and masks for a party.
Wite the missing numbers in the table.
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\

Kate buys 24 cans of lemonade.

She buys the cans in packs of 4
Each pack costs £1.20

Pack of 4

Steve buys 24 cans of lemonade.

He buys the cans in packs of 6
Each pack costs £1.60

Pack of 6
Cost £1.60

Kate pays more for her 24 cans than Steve pays for his 24 cans.

How much more?
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\

Here are the rules for a number grid.

This number is the sum of the numbers
12 |=— inthe middie row.

20 |~ This number is the product of the numbers.

in the middle row.

Use the rules to write the missing numbers in these number grids.

: 4

10

24
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20. (a) | pay £16.20 to travel to work each week.
| work for 45 weeks each year.

How much do | pay to travel to work each year?

Show your working.

(b) 1 could buy one season ticket that would let me travel for all 45 weeks.

It would cost £630

How much is that per week?

\

+mak
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10.

Lisa uses a grid to multiply 23 by 15

200+ 100 + 30 + 15 = 345
Answer: 345

Now Lisa multiplies two different numbers.

Complete the grid, then give the answer below.

18

Answer:
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Here is information about some bags of marbles.

Altogether, there are 10 bags.

Each bag contains 12 marbles.

Each marble weighs 7 grams.

Use the information to match each question with the correct calculation.

The first one is done for you.

Question Calculation
10
How many bags are —1
there altogether?
10x7
How many marbles are
there altogether? Tox12
How much does each bag 12x7
of marbles weigh?
10x12x7
How much do all 10 bags
of marbles weigh altogether? it
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Leena buys balloons, hats and masks for a party.
Write the missing numbers in the table.

10 19.50

Total:
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18.  Kate buys 24 cans of lemonade.

She buys the cans in packs of 4
Each pack costs £1.20

Pack of 4
Cost £1.20

Steve buys 24 cans of lemonade.

He buys the cans in packs of 6
Each pack costs £1.60

Pack of 6
Cost £1.60

Kate pays more for her 24 cans than Steve pays for his 24 cans.

How much more?

\
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Look at these symbols.

Choose two of the symbols to make a correct calculation.

\12 3 4

Now choose two of the symbols to make a different correct calculation.

\12 3 4
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Work out the following.

1706 + 185

576 - 83

65 x 9

154 + 7
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"

Write the missing numbers in the boxes.

\BXI:

08 x

800
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18. Work out the following.

12 x 6

12+ 6
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Boxes of tins are delivered to a shop.

There are 37 boxes.

Each box contains 25 tins.

How many tins are there?
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8.

(@

(b)

What number is 378 more than 17567

What number is 378 times as big as 17562

\
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Alice and Ben each buy a bicycle but they pay in different ways.

' Ben pays
As":;s”;‘;s £8.62 every week
- for 24 weeks

Ben pays more than Alice.

How much more?

Show your working.

2mana
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Kim works in a shop.

The shaded squares on the diagram below show
the hours she worked in one week.

Monday

Tuesday

Wednesday

Thursday

Friday

Saturday

9 10 11 12 1 2 3 4 5 6

am pm

The table shows her pay for each hour worked.

Pay for each hour worked
Monday to Friday, 9am to 5pm £6.35
Monday to Friday, after 5pm £7.50

Saturday £7.50
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How much was Kim's pay for this week?

\
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Work out the following.

65 x 9

154 = 7
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Write the missing numbers in the boxes.

\ 800

8 x =

08 x =
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1. Work out the following.

12 x6

12+ 6
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15.

Boxes of tins are delivered to a shop.

There are 37 boxes.
Each box contains 25 tins.

How many tins are there?
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17.

Kim works in a shop.

‘The shaded squares on the diagram below show

the hours she worked in one week.

Monday
Tuesday
Wednesday
Thursday
Friday
Saturday
6
-~ am —= pm
‘The table shows her pay for each hour worked.
Pay for each hour worked
Monday to Friday, 9am to 5pm £6.35
Monday to Friday, after 5pm £7.50
Saturday £7.50
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\

How much was Kim's pay for this week?
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oionoonon

Use the digit cards to complete the calculations below.

YYou can use each card more than once.
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Fillin the boxes to complete each number chain.

Use any of the following:

+10 -10 x10 > +10
N e
\ 450 —» - - 35
\ 450 —»| - - 46
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15. (a) | pay £16.20 to travel to work each week.
I work for 45 weeks each year.

How much do | pay to travel to work each year?

Show your working.

(b) 1 could buy one season ticket that would let me travel for all 45 weeks.
It would cost £630

How much is that per week?

\
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13, Write the missing digits in each calculation below.
The first one is done for you.
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17. (a) Join all the pairs of numbers that add together to equal 1
The first one is done for you.

0.99

g

0.9

gof

() Now join all the pairs of numbers that multiply to equal 1
The first one is done for you.

oang
DOEBEE
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2

Write the missing numbers in the boxes.

\ - -
\ 81 +|:|

234

27
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Fill in the boxes to complete each number chain.

Use any of the following:

+10 >

_10> x1o>

D

450 —»|

450 —=|

\ 450 —»|

e

=~ 35

-~ 46
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Write the missing digits in each calculation below.

The first one is done for you.

1 9 x 3 =
\ x 3 =
\ x 3 =
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10. (@) Join all the pairs of numbers that add together to equal 1

The first one is done for you.

(b) Now join all the pairs of numbers that multiply to equal 1

The first one is done for you.





image73.jpg
20, The table shows information about the rainfall in two places in South America.

rainfall un-mmm-l Months
Dry | 10cm per month 8 Janto Aug
" Wet | 20cm per month 4 Sept to Dec
Dry | Scm permonth 10 July to Apr
i Wet | 50cm per month 2 May to June

Which of the places has more rainfall on average over the whole year?
Show working to explain your answer.

N\

Tick (/) your answer.

\ A 8
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A café sells small, medium and large drinks.

‘The table shows the number of drinks the café sold on one day.

Chocolate

(@ Altogether, how many chocolate drinks were sold?

\

() A small tea costs 50p.

Altogether, how much was spent on smal teas?
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5.

Look at the number sentences below.
Tick (v) ones that are correct and cross (x) ones that are incorrect.
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21. (a) Work out the answer.

\2¢(16+2)¢6.

(b) Put brackets in the calculation below to make it correct.

\ 2 + 16
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1

Fillin the missing numbers.

68

100

20

100

300

100

65

100
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"

Write the missing numbers.

\

962 +

51 x

- 403

+28

= 1898

982

2397

828
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22.  People payto visit a garden.

145 people pay.
39 of them are under 16

How much ticket money is paid altogether?





image79.jpg
11. (@) Work out the answer.

\z.(w

(b) Put brackets in the calculation below to make it correct.

N
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Write the missing numbers.

\

962 +

51 x

- 403

+23

= 1898

982

2397

828
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13.

\

People pay to visit a garden.

Tickets:

Age 16 and over

Under 16

145 people pay.
39 of them are under 16

How much ticket money is paid altogether?
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Write the missing numbers.
The first pair is done for you.

- Add__5
5
\ >
Multiply by
A
- Add
10
A
o~ Multiply by
e Add 10 H Multiply by
10
~ Multiply by 2 H Add

\./ \./

\./

10

40

40
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Wite a number in each box to make the calculations correct.

\ x - :

80
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22,

A swimming pool has this price list.

Swimming Pool Price

List

— &>

Adult Child

Annual Membership £230.00 £180.00
Monthly Membership £26.50 £15.00
Casual Swim £3.50 £1.65
Add-on Membership £7.00 for each child
Family Swim £7.25

Annual Membershi

Family Swim: 2 adults and 2 children. Pay on entry.

Unlimited swimming for a year.
Monthly Membership: Unlimited swimming for one month.
Add-on Membership: Add up to 3 children to an adult Monthly Membership.

Afather and his two children want to swim twice a week for a year.

What is the minimum cost per month for them to do this?

\

per month
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4. (a) A shopkeeper stacks tins.

In each layer there are the same number of tins.

How many tins are in each stack below?

man

(b) The shopkeeper stacks jars in layers.

Each layer looks like this.

How many jars will be in the stack when it is 5 layers high?

\

(¢) The shopkeeper stacks 30 boxet
In each layer there are 5 boxes.

layers.

How many layers high is the stack?

\




